-~ O o o o

a W DN

Pos

Part Number
50301093000
5030804200068
5030805100068
5460139000030
5021140110068
50308002000
7124909
50301092000
5460129000030

Description
FORK PROTECTOR R/S BLACK '97
SIDE COVER R/S BLUE '97
SPOILER R/S BLUE '97
FORK PROTECTION GUIDE R/S '97
HEAD LIGHT MASK UFO BLUE '97
MASK RUBBER UFO D=50MM '97
* FORK LEGS CPL. "KTM71""
FORK PROTECTOR L/S BLACK '97
FORK PROTECTION GUIDE L/S '97

200 EXC JACKPINER '97 <1997><US><727574>
NEW PARTS

Additional Text

Quantity
1.00
1.00
1.00
1.00
1.00
2.00
1.00
1.00
1.00

30223



6 0015050203 HH COLLAR SCREW M 5X20 WS=8 2.00
7 0985050003 Self locking nut DIN 985 M5 2.00
8 0015050163 HH COLLAR SCREW M 5X16 WS=8 4.00
9 7520196 H H COLLAR SCREW M 6X25 WS=10 4.00
1" 5020841010068 FENDER FRONT BLUE '97 1.00
12 50313011000 BRAKE HOSE FRONT 1290 MM '97 1.00
13 5030801310051 FENDER REAR EXC GREEN '97 1.00
13 5030801310068 FENDER REAR EXC BLUE '97 1.00
19 54608019200 SPEEDOMETER CABLE GUIDE '96 1.00
32 50301032014 BOTTOM TRIPLE CLAMP14MM/D=50MM 1.00
33 50101033100 FORK TUBE L=244 '91 ONLY FOR MXC, EXC 1.00
34 50301034014 TOP TRIPLE CLAMP X=14MM/D=50MM 1.00
39 50307040000 SEAT BLACK / KTM WHITE 2000 1.00
40 50307040050 SEATCOVER BLACK/KTM WHITE '00 1.00
41 5030804100068 SIDE COVER L/S BLUE '97 1.00
50 5030805000068 SPOILER L/S BLUE '97 1.00
99 50308099000 DECAL SET 125 SIXDAYS GREEN'97 1.00




